
Multi-digit: S1

1) 1,560,092 =

2) 593,687,631 =

3) 3,273,159 =

4) 210,853,408 =

1) 90,000,000  +  6,000,000  +  800,000  +  90,000  +  2,000  +  100  +  50  +  3  =

2) 1,000,000  +  200,000  +  7,000  +  700  +  30  =

3) 600,000,000  +  80,000,000  +  2,000,000  +  100,000  +  30,000  +  3,000  +  300  +  90  +  9  =

4) 3,000,000  +  700,000 +  40,000  +  8,000  + 800 + 40  +  5 =

Write each of the following numbers in expanded form.A)
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B) Write the following in standard form.

Preview

Become a member to unlock 

unrestricted access to both printable 

and online worksheets.

www.tutoringhour.com


